EARAROBEEIERT — 2 N— IBISH —F

2018511 A3H (+) 15m{£E3H

m ML=l 4®E C1 ¥5R3®E \ [X2) W \ (il — | 4 (£) 14000 &
[A&4£] 1% :350,000 ™ ~ 23#&:105,000  ~ 33#%:35000H ~ 43#&:21,000H” . 53&:14,000 @
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
NN [i[mE} 129, —6-8— X — ILE# (£8)
1 Ty 4 5 e 1(2_9)2 6-6-8-3 | 37.7 1 (4_911) P =
AT RTAY BiHeyTa ¥ T L
- 9= o 1@ AT 229, o= . - AR—X (£8)
olgli| ELy Y TZIAT R {7 MR ? ?_731) Mg
LIV ATA—h— B:LT1T7E-—L s EE 45035
N > 3 | KERD 1:29.5 1-1-1-2 | 39.3| — 6 510 | FEBH (£5)
3155 IR /KRy % 56.0 (1 1/4) +1) TG E -
L:T7v3I7—L B:XA42a3974N kS
. . BB : “11-11- = BHEXE (£8)
4 3| FT—I K 4 3 o 1.(229).9 11-11-11-10| 37.2 5 <4+727) E&z;gﬁ
LW R—bh B:Ldx b =8 B
R - e 4312 =] :30. —-2-3- . — KEFHR (£E)
5 NEBIS S it 3 A (11310/22) 2-2-3-4 | 39.7 3 (4_726) renx "
LT RY14Y<y 7 B:72ULF1— ~ FEBRRAREYERRS
s oLl S A ! :30. 55— . - HENE (EE)
N . BEDZEDPL E g | eeee Wl - |4 [ (o e
R:TH—FT4FAF—XY%> B:RXTYLTIL b 24— T T—L
. . . FaE . -7 _ REM (BH)
71718 7>AU TRy 7 6.0 (17}35?% $o77 389 o (4+646) ;H(EE .
R:AAaoyLvyy B:Iq47))ienqd > HET7—L
R RHEEC : -3-4- — I (E8)
gl1l1|v77eo0 4 3 oE (11.310/.25) 4-3-4-5 | 39.9 8 <4+912) Bt
R:7viIs—L B:¥F%/40K At
_ HREA :30. o - AENE (£H)
917l 9 YIS TR # 6 56.0I_ 1(/:33_)5 7-8-9-9 39.0 7 <4+712) 15%3%:@. a8
RHTITFUFY BHITAH LY AHE  #h18
i = § > 7 | BlERE 1:30.8 10-10-10-11{ 38.5 | — 10 | 439 |KBAE (£H)
10/8[10| 7V=7Fv>a T w0 (1 1/2) Oy |mER2
R:2Gr T hF—F7—K—K B:EH /LA KR FREFHS
R HARMR :31. 76— . — Jertnkts (1£8)
1N 4|17 ET2— wED i AN " (4246) @) % (e
LAY RS BixpOLRFLI— =¥ Ty — L
® I —F—@EBIERL
13—F— 5,6,11,1,2,7,9,4,8,10,3
2= = 5,6,1,11,2,7,4,9,8,10,3
Jol=5r= 5,11,6,1,2,4,8,7,9,10,3
43—F— 11,5,7,6,1,2,8,4,9,3,10
[ N3
B OB 7 1904 714K 7-11 140H % E 6-8 210 3EHE 5-7-11 1,000
8 B 7 1004 5-7 390M B & 7-11 350M K31 7-11-5 3,040
1 120 5-11 530 | | & & 7-11 470M
5 170

ABICOVWTRDTEEERROODE. TR LIV,




